[D:9:9:9:9:9.9:0:9:9.:9.9.9:9.9.9.9.:9.9.9.9.0.9.9.0.9:9.9.:0.0.9.0.0.9.0.0.:0.9.9.0:0.9.9.0.:0.9.9.0.:0.9.9.0.9.9.9.0.0.9.9:0.0.9.0.:0.0.0.0:0.9.0:0:0.9.0:0:0.9.9:0.0.9.0:0.0.9.9:0.9.9.9:0.0.0.:0.0:4
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXKXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXKXKXKKKM6/1-6600505-00001XX
Diff0l1 for No.9395

No()l:[f(x):{kx_6 ’ "<3D, ,No()2:(f(x):{4x2+k ; x<=_4D

2’ -3 ; x>=3 kx+79 ; x>-4
2 +7x+a N x<-2 bx+12 ; x<=-2
NoO3=|f(x)=| 3x*-21 so2<=x<=4]} ,NoO4=|f(x)=| ax+b ; -2<x<2
T+bx ; x>4 Tx+a x>=2

No05 =[f(x)=(x-3)+3]

f(x)=7x"-3
a=4

a=3 a=28 a=2
No06 = b:jlf , ,No()7—[b:7}, ,NoOS—[b:J, ,No()8_[b:7}
c=4.

d=4.01
45+

¢

35- A
30 /
25- /

20 ./

151 i
/

10 > d
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X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKXXKXKXKXKXKXKKXKXKXKKKXKXKXKKXKXK

):9:9:9.:9:9:9.9.9:9.9.9.9:9.:9:9.9:9.:9:9.9.:9.0:9.9.:9.9:9.0:0.9.0.9.:0.9.9.0:0.9.9.9.:0.9.9.9:0.9.9.9.0.9.9.9.0:0.0.9.0:9.0:0.9.0.0:0.9.0.0:0.9.0.0:0.9.9.0:0.9.0:0:0.9.9.0.0.9.9.0.0.9.9.:0.0.0.0¢
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKXKXKXKKKM6/1-6600505-00002XX
Diff0l1 for No.9419

No()l:[f(x):[/‘x+23 ; X<4D, ,No()2:[f(x):{4x2+k ; x<=_2D

2x%+3 ; x>=4 kx+22 ; x>-2




d+ax s ox<=-3 ax+18 x<=-3
NoO3=|f(x)=[2x"~Tx+b ; -3<x<4||, ,NoO4d=|f(x)=|bx+a ; -3<x<=4
2_53 . ox>=4 3x+b x>4
No05 = [f(x) =x" + 4]
flx)=8x"-5
a=3 a=28 a="17 a=38
NoO6=| b=32 | ,N007=L,:2} ’N"O‘g:[sz’ ’N"O‘g:[b:s}
c=3.1
d=3.01
45+
40+
/
/
/
354 //
30+ //
//
25+ /
/
20- ).
/
/
15 /
10 //
4 iy e’ Mo e’ i B Bt vy Soaes B BASSATEE B s
-5
-10-

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXKXKXKXXXKXKXKXXKXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKKKKXK

):0:0:0:9:0:0.0:9:9:9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0.9,9.0.0.:0:9.9.0.0.0:9.9.0.0.0:0:9.9,0.0.0.:0.9.0.0.0:0.9.9.0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:0.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXKXXXXKXXXXKXXKXXKXXKXXKXXXXKKM6/1-6600505-00003XX
Diff0l1 for No.9428

NoO[:(f(x):F)H_zO : X<:3D’ ,Noozz(f(x):{“xz” ; x<_2D

kxX*~1 ; x>3 kx+28 ; x>=-2
5+5x R x <=-3 bx+22 x <=-3
No03 =| f(x)= 3x%+5b ; 3<x<=2]| ,NoO4=|f(x)=| ax+b ; -3<x<=95
Yrax—17 N x>2 3x+a x>35

No05 =[f(x)=(x-3)+1]



f(x)=7x"-5
a=2

a=6 a=3 a=4
No06 = bz;f , ,No()7—[b:5}, ,NoOS—[b:J, ,No()8_[b:3}
c=2.

d=2.01
45+

40+

35- /
30 /
25 )"

20 -
15+ /

10+ /

-10+

X [Page = 0003] XXXXXXXXXXXXXXXKXKXXKXXKXXKXXKXKKXXKXXKXKKX KKK KK KKK KKK KK XKX KKK KK KKX KK KKK KKK KK XKKKK

D:9:9:0.:9:9:9.0.9:9.9.0:9:0:9.0:0:0:9.0:0:0.0.0:0.9:0.0:0.9.9.0:0.9.9.0:0:9.9.0.9.9.0.0.9.9.0.0:9.:0.0.0.0.0.0:0.9:0.0:0:0.0.0:0:0.0.0.0:0.0.0:0:0.0.9.0:0.0.0.0:0.0.0:0:0.0.0:0.0.0.0:0.0.0:0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKX XXX XXX XX XXX KXXKXKXKXM6/1-6600505-00004XX
Diff0l1 for No.9459

[ {6}:—6 ; x<2D ( {kx+94 : x<-4D
No0l =| f(x) = , ,No02 =| f(x)=

230 +k ;o x>=2 A’ +k ; x>=-4
Y +Tx+a N x<-2 bx+23 x<=-3
NoO3=|f(x)=| px*-17 ; -2<=x<4||, ,No04=|f(x)=| ax+b ; -3<x<=35
1+4x x>=4 dx+a x>35

No05=[f(x)=(x-1)"+1]

fx)=7x"+8
a=2
a=3 a=3 a=2
No06 = bz;f , ,N007—[b:7}, ,N008—[b:7}, ,NOOS—[Z):J
c=2.

d=2.01



45- ;
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X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXXKXKXKXKXXXKXKXKXXKXXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXKXXKKM6/1-6600505-00005XX
Diff0l1 for No.9476

T7x-7 ; x<2 8x+k ; x<-3
o= 0r<| I} vz w <[ Bk 7 x<3])

kx> =5 ;ox>=2 ;o ox>=-3
bx’—7x+3 ; x<=-3 bx+18 ; x<-3
No03 =] f(x)= 3x%+a so3<x<4l) ,NoO4=|f(x)=| ax+b ; -3<=x<4
42 +3x s x>=4 3x+a x>=4

No05 =[f(x)=(x-3)+3]

flx)=5x"+7
a=3
a=35 a=3 a=2
No06 = b:i.f \ ,N007:[b:8}’ ’N"O‘g:[bze}’ ’N"O‘g:[b:s}
Cc=D.

d=3.01
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X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKXXXKXKXKXXKXXKXKXKXKKXKXKXKXKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXKXXXXKXXKXKXXKKM6/1-6600505-00006XX
Diff0l1 for No.9491

NOO[:(f(x):|:k‘x2_3 N X<4:|]’ ’NOOZZ(f(x):|:kx+52 N x<-3 :|)

Tx+33 ; x>=4 4°+k ; x>=23
bx'—4x+4 x <-4 ax+9 ; x<-2
NoO3=|f(x)=| 68+ax ;o 4<=x<3]|]| ,NoOd=| f(x)=|bx+a ; -2<=x<=2
32453 . y>=3 4x+b ; x>2
No05 = [f(x) = (x— 1) +4]
flx)=5x"+6
a=2
a=5 a=6 a=6
No06 = b:;f , ,N007—[b:7}, ,No()8—[b: 5}, ,N008_[b: 5}
c=2.

d=2.01
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X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKXXXKXKXKXXKXXKXKXKXKKXKXKXKXKKXKXKXKKKXKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXKXXKXXXXKXKXXKKM6/1-6600505-00007XX
Diff0l1 for No.9633

2 . - 3x+k 5 x<=-2
Noo1:(f(x)={4x thoyox< 3D ,Noozz(f(x)=[ f ) D
3x+28 ; x>3 kx =24 ; x>-2

2% —4x+a N x<-3 bx+17 ; x<=-3
NoO3=|f(x)=| bx*+16 so3<=x<2|) ,NoO4=|f(x)=| ax+b ; -3<x<3
10+5x N x>=2 6x+a ; x>=3

No0O5 =[f(x)=(x-1)+1]

f(x)=7x"-6
a=4
a=17 a=5 a=6
No06 = b:j.f \ ,N007:[b:4}’ ’N"O‘g:[bze}’ ’N"O‘g:[b:s}
Cc=4.

d=4.01
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X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKXXXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXXXKXXKXKXXKKM6/1-6600505-00008XX
Diff0l1 for No.9711

( {kx+6 N x<2D ( [2x+k N x<—4D
No0OI =| f(x) = , L No02=|f(x)=

4¥ 14 x>=2 kx'—98 ; x>=
247y ; x <-4 bx+14 ; x<=-2
NoO3=|f(x)=|2x"—4x+a ; -4<=x<=2||, ,NoO4=|f(x)=|ax+b ,; -2<x<=4
bF—90 ;  x>2 3x+a s x4
No05 =[f(x)=(x=3) +1]
flx)=5x"+6
a=3
a=38 a=17 a=7
No06 = b:;f , ,N007—[b:6}, ,No()8—[b: 3}, ,N008_[b: 5}
Cc=).

d=3.01
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X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXXXKXKXKXXXKXKXKXXKXXXKXKXKKXKXKXKXKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXKXXKKM6/1-6600505-00009XX
Diff0l1 for No.9784

NoO]:(f(x):[4x2_5 ; X<Z4D’ ,NoOZ:(f(x):[kxz_zs . x<:_2D

kx+31 ; x>4 8x+k ; x>-2
ax2—4 N x<=-3 ax+13 N x <=-4
NoO3 =| f(x)=|3 2 —6x+b co3<x<2|) ,NoO4=|1f(x)=| bx+a ; -4<x<=2
35+2x  ;  x>=2 4x+b ;o x>2
No05 = [f(x) =x*+3]
flx)=4x"-7
a=2
a=6 a=6 a=6
No06 = bzi? , ,NdW—[bzz} ’wa_[b:S} ’Ndm_[b:;
C=_c.

d=2.01
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X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKXXXKXKXKXXKXKXKXKXKKXKXKXKXKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXKXXKXKXXKKM6/1-6600505-00010XX
Diff0l1 for No.10143

NoO[:(f(x):[kx_l ’ X<2D, ,NoOZ:(f(x):sz'Fk : x<:_4D

4 -3 ; x>=2 kx+84 ; x>-4
3845 s ox<=22 bx+14 ; x<=-4
NoO3=|f(x)=|bx*+Tx+27 ; -2<x<=4|} ,NoO4=|f(x)=| ax+b ;| 4<x<=2
5l+ax K x>4 Sx+a x>2

No05 =[f(x)=x"+2]

f(x)=7x"-6
a=4
a=3 a=3 a=8
No06 = b:j.f S ,N007:[b:5}’ ’N"O‘g:[bzz}’ ’N"O‘g:[sz
Cc=4.

d=4.01
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X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXKXKXKXXXKXKXKXXKXKXKXKXKKXKXKXKXKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXKXXXXKXXKXKXXKKM6/1-6600505-00011XX
Diff0l1 for No.10626

N001=(f(x):{4"2+2 ; X<Z4D’ ,NoOZ:[f(x):[4x2+k ; x<_3D

kx+46 ; x>4 kx+52 ; x>=-3
3x°+3 ;o x<=-3 bx+17 ; x<=-2
No03 =] f(x)= 33+bx ;o -3<x<=4|]| ,NoO4=|f(x)=| ax+b , -2<x<=35
af—7x+33,' x>4 3x+a x>5

No05 =[f(x)=(x—2)*+4]

flx)=8x"-7
a=2
a=17 a=17 a=6
No06 = b:i.f \ ,N007:[b:4}’ ’N"O‘g:[bzs}’ ’N"O‘g:[b:s}
C=_4.

d=2.01



45 /
40 /
35- /

30- /
25 /-

20- o

15- /
"L ~

10

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXKXKXKXXXKXKXKXXKXXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXKXXXKXXKXKXXKKM6/1-6600505-00012XX
Diff0l1 for No.11002

NoO[:(f(x):{kx2+6 ; x<4:|]’ ,NoOZ:(f(x):{k)H—“ ; x<-4:D

§x+6 ; x>=4 3x+k ; x>=
CH+bx+l ;0 x<-3 ax+12 ;  x<A
No03=|f(x)=| S5x+a ;o3<=x<2||, ,NoUd=|f(x)=| bx+a ,; 4<=x<2
30444 x>=2 3x+b 5 x>=2
No05 = [f(x)=(x—-2)"+7]
flx)=6x"-7
a=2
a=2 a=7 a=6
No06 = b :if , ,N007—[b _ 5}, , No08 _[b _ 5}, ,N008_[b _ 2}
C=_4.

d=2.01
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):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXKXXKXXXXKXKXXKKM6/1-6600505-00013XX
Diff0l1 for No.11188

NOO[:(f(x):|:4x2_6 N x<:2:|]’ ,NOOZ:(f(x):|:kx+47 N x<-3 :D

Tx+k : x>2 3% +k ; x>=-3
S5+bx ; x<-2 ax+15 x <-4
NoO3=|flx)=|x"~5x-13 ; 2<=x<4||, ,NoO4=|f(x)=|bx+a ; -4<=x<=2
2x%+a K x>=4 6x+b x=2
No05 =[f(x)=(x 1)’ +6]
f(x)=7x"—8
a=3
a=38 a=17 a=>
No06 = b:;f , ,N007—[b:3}, ,No()8—[b:4}, ,N008_[b:2}
Cc=).

d=3.01
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):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXKXXKKM6/1-6600505-00014XX
Diff01 for No.11505

NoO]:(f(x):{6x+44 ; x<=4D’ ,NoOZ:[f(x):[kxz_zs : x<:_2D

4x*+k ; x>4 8x+k ; x>-2
-1+6x x <-4 ax+18 x <-4
NoO3=|f(x)=|2x"+x+b ; -4<=x<3||, ,No04=|f(x)=| bx+a ; -4<=x<=3
ax’—59 ; x>=3 dx+b x> 3

No05 =[f(x)=(x-1)"+3]

flx)=3x"-5
a=4
a=35 a=2 a=3
No06 = b:j.f \ ,N007:[b:6}’ ’N"O‘g:[sz’ ’N"O‘g:[b:s}
Cc=4.

d=4.01
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):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXXXKXXXXKXXXXKXXXXXXKXXKXKXXKKM6/1-6600505-00015XX
Diff01 for No.12113

NoO]:(f(x):[k)H—S : x<=2D’ ,NoOZ:[f(x):[kxz_m ; x<_2D

2543 ; x>2 8x+k ; x>=-2
2+7x K x<-3 ax+12 ; x <-4
No03 =| f(x) = ¥+ b ;o 3<=x<=4||, sNoOd=| f(x)=| bx+a ; 4<=x<=2
2 +ax—44 x>4 3x+b x=2
No05 =[f(x) = (x= 1) +5]
fx)=4x"-5
a=3
a=6 a=6 a=6
No06 = b= gf , ,N007—[b _ 5}, , No08 _[b _ 5}, ,N008_[b _ 8}
Cc=).

d=3.01
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X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXKXKXKXKXXXKXKXKXXKXXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXXXXXKXXXXKXKXXKKM6/1-6600505-0001 6XX
Diff0l1 for No.12541

NoO]:(f(x):[4x2_7 ; X<4D’ ’Noozz[f(x):[kxz—ﬂ ; x<_3D

dx+k : x>=4 2x+k ; x>=-3
2 +6x N x <-4 ax+23 ; x<-3
NoO3=|f(x)=|3x*+ax—-70 ; -4<=x<2||, ,No04=|f(x)=| bx+a ; -3<=x<=35
2% +b  ; x>=2 dx+b o x>3
No05 =[f(x)=(x—-2)+7]
[flx)=4x-3
a=3
a=2 a=6 a=4
NoO6=| b=32 | ,N007—[b:3}: ’NOOS—[b:g}’ ’N008_[b:8}
c=3.1
d=3.01
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X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXKXKXKXXXKXKXKXXKXXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXXXXXKXKKXXKKM6/1-6600505-00017XX
Diff01 for No.12590

NoO]:(f(x):[4x2+k d X<:3D’ ,NoOZ:[f(x):[kx2_31 ; x<_3D

6x+13 ; x>3 5x+k ; x>=-3
-3+2x R x<=-2 bx+17 ; x<-2
NoO3=|f(x)=|bx*+5x-1 ; -2<x<=4||, ,NoO4=|f(x)=|ax+b ,; -2<=x<35
2x%+a N x>4 3xta x==3
No05 = [f(x) =x*+3]
flx)=8x" -5
a=4
a=2 a=4 a=5
No06 = b:jlf , ,N007—[b:5}, ,No()8—[b:2}, ,N008_[b:7}
C=4.

d=4.01
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X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXKXKXKXXXKXKXKXKKXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXKXXKXXKXXKXKXXKKM6/1-6600505-00018XX
Diff0l1 for No.12621

NoO[:(f(x):[%C_l g x<=2D, ’Noozz(f(x):[3x2+k ; x<:_2D

kx*+1 ; x>2 kx+18 ; x>-2
XHax—-1 ; x<=-4 ax+12 ;  x<=-2
NoO3 =| f(x)=| br®—21 g <x<=3|| ,NoO4=|f(x)=| bx+a ,; -2<x<=2
12+6x x> 3 Tx+b x>2
No05 = [f(x) =x*+5]
f(x)=7x"+5
a=4
a=2 a=>5 a=5
No06 = b:jlf , ,N007—[b:8}, ,No()8—[b:8}, ,N008_[b:4}
Cc=4.

d=4.01
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):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXXXKXXXXXXKXKXXKKM6/1-6600505-0001 9XX
Diff0l1 for No.12641

( [kx+31 ; x<3D [ {kx+18 ; x<—2D
NoOl =| f(x)= , ,No02 =| f(x)=

4x*+1 ; x>=3 3x+k ;o x>=-2
6x+b : x<-3 ax+24 x <-4
No03=|f(x)=| x*-29  ; -3<=x<=2[| ,No04=|f(x)=|bx+a ; -4<=x<4
3% +ax—-35 ; x>2 S5x+b x>=4
No05 =[f(x)=(x-3)+3]
[f(x)=3x"+7
a=4
a=4 a="7 a=4
NoO6=| bh=42 | ,No()h[bZJ, ,NoOS—[b:J, ,N008_[b:7}
c=4.1
d=4.01
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKXXXXKKM6/1-6600505-00020XX

Diff0l for No.12674
2 . _ 2
NoOI:(f(x):FX —Lsoxs 4D, ,NoOZ:(f(x):Px tk

|
;x> -3

kx+27 : x> 4 kx+ 60
bx2_4 ; x <= -4 ax+38 N x<-2
NoO3=|f(x)=|x’+x+32 ; -4<x<2|| ,NoO4=|f(x)=|bx+a ; -2<=x<=2
2x+a K x>=2 3x+b e
No0S5 =[f(x)=(x—2)" +4]
fx)=7x"+6
a=4
a=7 a=4 a=3
No06 = b:j? , ,NdW—[bZS} ’wa_[bzs} ’Ndm_[b:;
C=4.

d=4.01



45- 4
401 /
35- /

30 /
251 /

20 o

15 /
10—\ /

10

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXKXKXKXKXXXKXKXKXXKXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKKKKXK

):9:0:0:9:0:0.0:9:9.9.0.0:0:9.9.0.0.0:0:9:9.0.0:0:9.9.0.0.0:0:9,0.0.0.0:9.9.0.0.0:0.9:0.0.0:0.:9:9.0.0.0.:0.9.0.0.0:0.9.9,0.0.0:0.9,0.0.0.:0.9.0.0.0.0.:9.9:0.0.0:0:9:0.0.0:0.:9.9.0.0.0:0.9.9.0.0.¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXXXKXXXXXKXXKXKXXKXKXXKKM6/1-6600505-00021XX
Diff01 for No.12728

NoO]:(f(x):{kx2+l ; X<3D’ ,NoOZ:[f(x):{kxz_% : x<:_3D

Tx+16 ; x>=3 2x+k ; x>-3
3 -Tx+4 ;  x<=-2 bx+32 ; x<=-4
No03 =| f(x) = 3x+b ; 2<x<=4]|]| ,NoO4=|f(x)=| ax+b ; -4<x<6
ax’*+16 R x>4 3x+a ; x>=6

No05 =[f(x)=x"+3]

flx)=6x"-5
a=4
a=6 a=4 a=5
No06 = b:j.f S ,N007:[b:4}’ ’N"O‘g:[bzs}’ ’N"O‘g:[b:J
C=4.

d=4.01



45-
40-
35- A
301 /
25- /
20- /

151 y

10+ ///

10

X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXKXKXKXKXXXKXKXKXXKXXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKKKKXK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXXKXXXXKXXXXXXKXXXXXXKXKXXKKM6/1-6600505-00022XX
Diff01 for No.14247

dx+k <4 2 . -
NoOI:(f(x):{ o * D ,NoOZ:(f(x):Px thoox< 3D
3x"=-3 ; x>=4 kx+60 ; x>=-3

bx*+4 K x<=-3 ax+16 ; x<-3
No03 =| f(x)= ax+22 ;o 3<x<=4||, ,NoO4=|f(x)=| bx+a ; -3<=x<3
2x%+2x-6 x>4 Sx+b x>=3

No05 =[f(x)=(x-2)+1]

flx)=5x"+7
a=3
a=38 a=17 a=4
No06 = b:i.f \ ,N007:[b:5}’ ’N"O‘g:[bzs}’ ’N"O‘g:[b:é}
Cc=D.

d=3.01



45- /
40 /

/

30 /

25- //
20 /

15- //

10- o

10

X [Page 0022] XXXXXXXXXXXXXXXKXXXXKXKXKXXKXKXKXKXKXXXKXKXKXKXKXKXKXKKXKXKXKXKKXKXKXKKKXKXKXKKKXKXKXKKKKKK

ID9:9.0:0:9.9:0.0.0:0:9:9.0.0.0:0:9:0.0.0:0.9.9.0.0.0:0:9:0.0.0.:0.:0.9.0.0.0:0.9,9,0.0.0.9:9.0.0.0:0.9.0.0.0.0:0:9.9.0.0:0.9.9.0.0.0:0.9,0.0.0:0:9.9.0.0.0:0.9:0.0.0:0.:9.9.0.0.0:0.:9:0.0.0.0:0.¢
L >



